Diploma Programme
Programme du diplome

Programa del Diploma

No part of this product may be reproduced in any form or by any electronic or
mechanical means, including information storage and retrieval systems, without written
permission from the IB.

Additionally, the license tied with this product prohibits commercial use of any selected
files or extracts from this product. Use by third parties, including but not limited to
publishers, private teachers, tutoring or study services, preparatory schools, vendors
operating curriculum mapping services or teacher resource digital platforms and app
developers, is not permitted and is subject to the IB’s prior written consent via a license.
More information on how to request a license can be obtained from
https://ibo.org/become-an-ib-school/ib-publishing/licensing/applying-for-a-license/.

Aucune partie de ce produit ne peut étre reproduite sous quelque forme ni par quelque
moyen que ce soit, électronique ou mécanique, y compris des systemes de stockage et
de récupération d’informations, sans l'autorisation écrite de I'IB.

De plus, la licence associée a ce produit interdit toute utilisation commerciale de
tout fichier ou extrait sélectionné dans ce produit. L'utilisation par des tiers, y compris,
sans toutefois s’y limiter, des éditeurs, des professeurs particuliers, des services de
tutorat ou d’aide aux études, des établissements de préparation a I'enseignement
supérieur, des fournisseurs de services de planification des programmes
d’études, des gestionnaires de plateformes pédagogiques en ligne, et des
développeurs d’applications, n'est pas autorisée et est soumise au consentement écrit
préalable de I'IB par lintermédiaire d’'une licence. Pour plus d’informations sur la
procédure a suivre pour demander une licence, rendez-vous a l'adresse suivante :
https://ibo.org/become-an-ib-school/ib-publishing/licensing/applying-for-a-license/.

No se podra reproducir ninguna parte de este producto de ninguna forma ni por ningun
medio electrénico o mecanico, incluidos los sistemas de almacenamiento vy
recuperacion de informacion, sin que medie la autorizacion escrita del IB.

Ademas, la licencia vinculada a este producto prohibe el uso con fines comerciales de
todo archivo o fragmento seleccionado de este producto. El uso por parte de terceros
—lo que incluye, a titulo enunciativo, editoriales, profesores particulares, servicios
de apoyo académico o ayuda para el estudio, colegios preparatorios, desarrolladores
de aplicaciones y entidades que presten servicios de planificacién curricular u
ofrezcan recursos para docentes mediante plataformas digitales— no esta permitido
y estara sujeto al otorgamiento previo de una licencia escrita por parte del IB. En este
enlace encontrara mas informacion sobre cdmo solicitar una licencia:
https://ibo.org/become-an-ib-school/ib-publishing/licensing/applying-for-a-license/.

International Baccalaureate”
Baccalauréat International
Bachillerato Imtemnacional



L

Diploma Programme
Programme du dipléme

Programa del Diploma

Physics
Higher level
Paper 2

Wednesday 28 October 2020 (afternoon)
Candidate session number

2 hours 15 minutes

Instructions to candidates

* Write your session number in the boxes above.

* Do not open this examination paper until instructed to do so.

e Answer all questions.

* Answers must be written within the answer boxes provided.

e A calculator is required for this paper.

* Aclean copy of the physics data booklet is required for this paper.
*  The maximum mark for this examination paper is [90 marks].

8820-6502
25 pages © International Baccalaureate Organization 2020

28E

P

Bachillerato Internacional

“““ “ ‘ ‘“ International Baccalaureate”
01 Baccalauréat International




=

-2- 88206502
Answer all questions. Answers must be written within the answer boxes provided.
1. A company delivers packages to customers using a small unmanned aircraft. Rotating

horizontal blades exert a force on the surrounding air. The air above the aircraft is initially
stationary.

aircraft

package

The air is propelled vertically downwards with speed v. The aircraft hovers motionless above
the ground. A package is suspended from the aircraft on a string. The mass of the aircraft is
0.95kg and the combined mass of the package and string is 0.45kg. The mass of air pushed
downwards by the blades in one second is 1.7 kg.

(@) (i) State the value of the resultant force on the aircraft when hovering. 1

(i)  Outline, by reference to Newton’s third law, how the upward lift force on the
aircraft is achieved. [2]

(i) Determine v. State your answer to an appropriate number of significant figures. [3]

I |

(This question continues on the following page)
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(Question 1 continued)

(iv) Calculate the power transferred to the air by the aircraft. [2]
(b) The package and string are now released and fall to the ground. The lift force on the
aircraft remains unchanged. Calculate the initial acceleration of the aircraft. [2]
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2. The Rotor is an amusement park ride that can be modelled as a vertical cylinder of inner
radius R rotating about its axis. When the cylinder rotates sufficiently fast, the floor drops out
and the passengers stay motionless against the inner surface of the cylinder. The diagram
shows a person taking the Rotor ride. The floor of the Rotor has been lowered away from the
person.

axis of rotation

(a) Draw and label the free-body diagram for the person.

[2]

(This question continues on the following page)
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(Question 2 continued)

(b)  The person must not slide down the wall. Show that the minimum angular velocity o of
the cylinder for this situation is

where u is the coefficient of static friction between the person and the cylinder. [2]

(c) The coefficient of static friction between the person and the cylinder is 0.40. The radius
of the cylinder is 3.5m. The cylinder makes 28 revolutions per minute. Deduce whether
the person will slide down the inner surface of the cylinder. [3]

Turn over
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3.  Asample of vegetable oil, initially in the liquid state, is placed in a freezer that transfers
thermal energy from the sample at a constant rate. The graph shows how temperature T of
the sample varies with time {.

300+
290+
280+
270+

T/K
260+

250

240

230 | | | | | | | | | I I
0O 5 10 15 20 25 30 35 40 45 50 55 60
t/ minutes
The following data are available.
Mass of the sample = 0.32kg
Specific latent heat of fusion of the oil = 130kJkg™

Rate of thermal energy transfer = 15W

(@) (i) Calculate the thermal energy transferred from the sample during the first
30 minutes. [1]

(i)  Estimate the specific heat capacity of the oil in its liquid phase. State an
appropriate unit for your answer. [2]

(This question continues on the following page)
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(Question 3 continued)

(b) The sample begins to freeze during the thermal energy transfer. Explain, in terms of the
molecular model of matter, why the temperature of the sample remains constant during
freezing. [3]

(c) Calculate the mass of the oil that remains unfrozen after 60 minutes. [2]

L

28EPO

EPO7

Turn over
Il :



=

-8- 8820-6502

4. Two loudspeakers, A and B, are driven in phase and with the same amplitude at a frequency
of 850Hz. Point P is located 22.5m from A and 24.3m from B. The speed of sound is 340ms™".

P
22.5m
A 24.3m
B
(a) Deduce that a minimum intensity of sound is heard at P. [4]

(This question continues on the following page)
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(Question 4 continued)

(b) A microphone moves along the line from P to Q. PQ is normal to the line midway
between the loudspeakers.

P

direction of travel

A @ aQ
B o

The intensity of sound is detected by the microphone. Predict the variation of detected
intensity as the microphone moves from P to Q. [2]

(¢) When both loudspeakers are operating, the intensity of sound recorded at Q is /.
Loudspeaker B is now disconnected. Loudspeaker A continues to emit sound with
unchanged amplitude and frequency. The intensity of sound recorded at Q changes to /,.

Estimate j—A ) [2]

0

(This question continues on the following page)
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(Question 4 continued)

(d) In another experiment, loudspeaker A is stationary and emits sound with a frequency of
850Hz. The microphone is moving directly away from the loudspeaker with a constant
speed v. The frequency of sound recorded by the microphone is 845Hz.

(i)  Explain why the frequency recorded by the microphone is lower than the

frequency emitted by the loudspeaker. [2]

(i) Calculate v. [2]
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5.  The graph shows how current [ varies with potential difference V across a component X.
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(@)

Outline why component X is considered non-ohmic.

8820-6502

(1]
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(Question 5 continued)

(b) Component X and a cell of negligible internal resistance are placed in a circuit.
A variable resistor R is connected in series with component X. The ammeter reads 20 mA.

N
A)
R
40V
X
(i) Determine the resistance of the variable resistor. [3]
(i)  Calculate the power dissipated in the circuit. [1]

(This question continues on the following page)
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(Question 5 continued)

(c) Component X and the cell are now placed in a potential divider circuit.

40V
- S

| x

(i)  State the range of current that the ammeter can measure as the slider S of the
potential divider is moved from Q to P. [1

n
Y

(i)  Slider S of the potential divider is positioned so that the ammeter reads 20 mA.
Explain, without further calculation, any difference in the power transferred by the
potential divider arrangement over the arrangement in (b). [3]
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6. (a) One possible fission reaction of uranium-235 (U-235) is
U+ — "OXe + 2Sr+2;n
The following data are available.
Mass of one atom of U-235 =235 u
Binding energy per nucleon for U-235 = 7.59 MeV
Binding energy per nucleon for Xe-140 = 8.29 MeV
Binding energy per nucleon for Sr-94 = 8.59 MeV

(i) State what is meant by binding energy of a nucleus. [1]

(i)  Outline why quantities such as atomic mass and nuclear binding energy are often
expressed in non-Sl units. [1]

(i)  Show that the energy released in the reaction is about 180 MeV. [1

(b)  Anuclear power station uses U-235 as fuel. Assume that every fission reaction of
U-235 gives rise to 180 MeV of energy.

(i)  Estimate, in Jkg™, the specific energy of U-235. [2]

(This question continues on the following page)
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(Question 6 continued)

(i)  The power station has a useful power output of 1.2 GW and an efficiency of 36 %.
Determine the mass of U-235 that undergoes fission in one day. [2]

(i)  The specific energy of fossil fuel is typically 30 MJkg™". Suggest, with reference
to your answer to (b)(i), one advantage of U-235 compared with fossil fuels in a
power station. [1]

(c) Asample of waste produced by the reactor contains 1.0kg of strontium-94 (Sr-94).
Sr-94 is radioactive and undergoes beta-minus (37) decay into a daughter nuclide X.
The reaction for this decay is
wSr— X+v, +e.

(i)  Write down the proton number of nuclide X. 1

(This question continues on the following page)
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(Question 6 continued)

The graph shows the variation with time of the mass of Sr-94 remaining in the sample.

1.0 7
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0.4
0.3
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0.1

0.0 | | | | | | T T T
0 25 50 75 100 125 150 175 200 225

time/s

mass / kg

(i)  State the half-life of Sr-94. [1]

(ii) Calculate the mass of Sr-94 remaining in the sample after 10 minutes. [2]
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7.  Avertical solid cylinder of uniform cross-sectional area A floats in water. The cylinder is
partially submerged. When the cylinder floats at rest, a mark is aligned with the water
surface. The cylinder is pushed vertically downwards so that the mark is a distance x below
the water surface.

cylinder floating cylinder pushed
at rest downwards

mark

water surface ——47

At time t = 0 the cylinder is released. The resultant vertical force F on the cylinder is related
to the displacement x of the mark by

F=— pAgx
where p is the density of water.

(@) Outline why the cylinder performs simple harmonic motion when released. 1

(b) The mass of the cylinder is 118kg and the cross-sectional area of the cylinder is
2.29 x 10"'m? The density of water is 1.03 x 10°kgm™. Show that the angular
frequency of oscillation of the cylinder is about 4.4 rad s™'. [2]

(This question continues on the following page)
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(Question 7 continued)
(c) The cylinder was initially pushed down a distance x = 0.250 m.

(i)  Determine the maximum kinetic energy E, .., of the cylinder. [2]

max

(i)  Draw, on the axes, the graph to show how the kinetic energy of the cylinder
varies with time during one period of oscillation T. [2]

kinetic energy

E

kmax |

time

444444444444444\|44444444444444444444444444
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8.  The diagram shows the electric field lines of a positively charged conducting sphere of radius
R and charge Q.

A B
< Q >
Points A and B are located on the same field line.
(@) Explain why the electric potential decreases from A to B. [2]

(b) Draw, on the axes, the variation of electric potential V with distance r from the centre of

the sphere. [2]
4
0 A !
0 [

(This question continues on the following page)
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(Question 8 continued)

(c) Aproton is placed at A and released from rest. The magnitude of the work done by the
electric field in moving the proton from Ato B is 1.7 x 107'°J. Point A is at a distance of
5.0 x 10?m from the centre of the sphere. Point B is at a distance of 1.0 x 107" m from
the centre of the sphere.

(i)  Calculate the electric potential difference between points A and B. [1]

(i)  Determine the charge Q of the sphere. [2]

(d) The concept of potential is also used in the context of gravitational fields. Suggest why
scientists developed a common terminology to describe different types of fields. [
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9. The diagram shows an alternating current generator with a rectangular coil rotating at a
constant frequency in a uniform magnetic field.

sliding contacts

N il
1

axis of rotation > ............

(@) Explain, by reference to Faraday’s law of induction, how an electromotive force (emf) is
induced in the coil. [3]

(This question continues on the following page)
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(Question 9 continued)

(b) The graph shows how the generator output voltage V varies with time t.

V/kV
100

757

50

257

I I
0 2 4 6 8 1042 14 16 1 20 4/ms
—257

—50

—757

-100-

Electrical power produced by the generator is delivered to a consumer some distance away.

(i)  The average power output of the generator is 8.5 x 10°W. Calculate the root
mean square (rms) value of the generator output current. [2]

(This question continues on the following page)
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(Question 9 continued)
(i)  The voltage output from the generator is stepped up before transmission to the

consumer. Estimate the factor by which voltage has to be stepped up in order to
reduce power loss in the transmission line by a factor of 2.5 x 102, [

(ii)  The frequency of the generator is doubled with no other changes being made.
Draw, on the axes, the variation with time of the voltage output of the generator. [2]
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10. The de Broglie wavelength A of a particle accelerated close to the speed of light is approximately

where E is the energy of the particle.
A beam of electrons of energy 4.2 x 10%eV is produced in an accelerator.

(@) Show that the wavelength of an electron in the beam is about 3 x 107"°m. [

(b)  The electron beam is used to study the nuclear radius of carbon-12. The beam is
directed from the left at a thin sample of carbon-12. A detector is placed at an angle 6
relative to the direction of the incident beam.

electron beam

thin sample S~

of carbon-12 RN :
detector

The graph shows the variation of the intensity of electrons with 6. There is a minimum
of intensity for 0= 6,.

intensity of
electrons

(This question continues on the following page)
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(Question 10 continued)

(i)  Discuss how the results of the experiment provide evidence for matter waves. [2]

(i)  The accepted value of the diameter of the carbon-12 nucleus is 4.94 x 107"°m.
Estimate the angle 6, at which the minimum of the intensity is formed. [2]

(i)  Outline why electrons with energy of approximately 10’ eV would be unsuitable
for the investigation of nuclear radii. [2]

(c) Experiments with many nuclides suggest that the radius of a nucleus is proportional
to A, where A is the number of nucleons in the nucleus. Show that the density of a
nucleus remains approximately the same for all nuclei. [2]
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